

# Algebraizations of Propositional Logic and Monadic Logic

# **Adel Mohammed Al-Odhari**



Abstract: In this paper, we introduce the language systems of propositional logic (LSPL), which involves no variables, and monadic predicate logic (LSMPL), which consists of predicates applied to single variables. We review the validity and dedication related to (LSPL) and (LSMPL) with their properties. After that, we investigate the connection between Boolean algebras with (LSPL) and (LSMPL) to make algebraizations methods out of logic.

Keywords: Propositional and Monadic Logic, Validity, Deduction, Boolean Algebra, Algebraizations of Propositional and Monadic Logic.

#### I. INTRODUCTION

 ${
m T}$ he current paper sheds light on the link between propositional logic (LSPL) and monadic predicate logic (LSMPL) with Boolean algebras. The father of algebraic logic is George Bool who introduced Boolean algebras in the 1850's to express statement logic in algebraic form [2]. In [1], we studied propositional logic with important characteristics. In [2] we investigated and enlarged existential and universal quantifier operators on Boolean algebras with their properties. In [3], the extension of monadic and their properties by introducing ideals, filters, homomorphism, and constant mapping and derived some results which associate ideal filters under mapping homomorphism.

#### **II. PROPOSITIONAL LOGIC**

A. Validity of language for propositional logic system (VLPLS)

In this section, we review the basic concepts of propositional logic, for information more see [1,5,4,8,18,19,20,21,22,23,24,25,26,27].

**Definition** (1). The language *L* of system propositional logic (LSPL) consists of:

1. Symbols **p**<sub>1</sub>, **p**<sub>2</sub>, **p**<sub>3</sub>, ... (for simple proposition);

2. Symbols  $\neg, \land, \lor, \leftrightarrow$  (for connective proposition) and 3. Punctuation (,).

Definition (2). A well- formed formula (wff) of language LSPL is defined as follows:

Manuscript received on 13 January 2023 | Revised Manuscript received on 11 February 2023 | Manuscript Accepted on 15 April 2023 | Manuscript published on 30 April 2023. \*Correspondence Author(s)

Adel Mohammed Al-Odhari\*, Department of Mathematics, Faculty of Education, Humanities and Applied Sciences (Khwalan), Sana'a University, Sana'a, Yemen. Email: a.aleidhri@su.edu.ye, ORCID https://orcid.org/0000-0002-7509-422X

© The Authors. Published by Lattice Science Publication (LSP). This is open access article under the CC-BY-NC-ND license (http://creativecommons.org/licenses/by-nc-nd/4.0/)

- i.  $P_1, P_2, P_3, \dots$  are well- formed formulas.
- ii. If A and B are wffs, then  $\neg A$ ,  $A \land B$ ,  $A \lor B$ ,  $A \lor B$ ,  $A \to A \lor B$ ,  $A \to A \lor B$ ,  $A \lor B$ , A $B, A \leftrightarrow B$  are wffs.

**Remark.** The Symbols  $\neg, \land, \lor, \rightarrow, \leftrightarrow$  indicted to negation, conjunction, disjunction, conditional and biconditional respectively.

**Definition (3).** An argument form is a finite sequence of wffs  $A_1, A_2, A_3, \dots, A_n$  is called premises followed by a wff B called conclusion. This is written as follows:

 $A_1, A_2, A_3, \ldots, A_n, \therefore B$ 

The main central problem in LSPL is how to check whether or not the conclusion B is derived from the given premises' argument form  $A_1, A_2, A_3, \dots, A_n$ ? Usually, there are two different ways called validity and deduction to do this.

The truth value of any wff in LSPL is considered true "T" or false "F" but not both. This is the principle of bivalence of classical logic.

Definition (4). A valuation (truth assignment or interpretation) *v* in the language LSPL is a mapping from the set of simple proposition letters into the set  $\{T, F\}$ .that is,

$$v(p) = \begin{cases} T, if \ p \ is \ true \\ F, if \ p \ is \ false \end{cases}$$

which satisfies the following conditions:

 $1.v(\neg p) \neq v(p);$  $\begin{array}{l} 2. \, v(p \land q) = T \leftrightarrow v(p) = v(q) = T; \\ 3. \, v(p \lor q) = F \leftrightarrow v(p) = v(q) = F; \end{array}$ 4.  $v(p \rightarrow q) = F \leftrightarrow v(p) = T \wedge v(q) = F$ , and 5.  $v(p \leftrightarrow q) = T \leftrightarrow v(p) = v(q)$ .

All interpretations of a **wff** can be viewed by a truth table.

**Definition** (5). An argument form  $A_1, A_2, A_3, \dots, A_n, \therefore B$  is called valid if there is no interpretation v such that:  $v(A_1) = v(A_2) = v(A_3) = \cdots v(A_n) = T \text{ and } v(B) = F$ . T argument form is he valid denoted by:  $A_1, A_2, A_3, \dots, A_n \models B$ , otherwise it is called invalid and denoted by:

 $A_1, A_2, A_3, \dots, A_n \not\models B$ .

**Theorem** (1).  $A_1, A_2, A_3, \dots, A_n \models B$  if and only if  $(A_1 \wedge A_2 \wedge A_3 \wedge ... \wedge A_n) \rightarrow B$  is true for all interpretation  $\nu$ . **Definition (6).** A wff **B** is called

- 1. Valid if  $\models B$  i.e.,  $\nu(B) = T$  for any interpretation  $\nu$ .
- 2. Satisfiability (contingent) if v(B) = T for some interpretation *v*.
- 3. Un Satisfiability contradiction) if v(B) = Ffor any interpretation  $\boldsymbol{v}_{\star}$



#### Theorem (2)

- A<sub>1</sub>, A<sub>2</sub>, A<sub>3</sub>, ..., A<sub>n</sub> ⊨ A → B if and only if A<sub>1</sub>, A<sub>2</sub>, A<sub>3</sub>, ..., A<sub>n</sub>, A ⊨ B.
   A<sub>1</sub>, A<sub>2</sub>, A<sub>3</sub>, ..., A<sub>n</sub> ⊨ B if and only if A<sub>1</sub>, A<sub>2</sub>, A<sub>3</sub>, ..., A<sub>n</sub>, ¬B ⊨ 0.
   If ⊨ A and ⊨ A → B, then ⊨ B.
   ⊨ A if and only if, ¬A is a contradiction.
- **Definition (7).** A wff *A* is a logically implies a wff *B*, if  $A \models B$ . This is denoted by  $A \Rightarrow B$  in language LSPL. Two wffs *A* and *B* are logically equivalents in language LSPL, if  $A \Rightarrow B$  and  $B \Rightarrow A$  which written as  $B \Leftrightarrow A$ . The relation  $\Leftrightarrow$  is an equivalence relation on wffs of the language LSPL. The relation  $\Rightarrow$  is ordering relation on wffs up to logical equivalence.

# **B.** Deduction of the Language for Propositional Logic System (DLPLS)

**Definition (1).** A rule of inference is a mapping that maps asset (possibly empty) of wff  $\alpha_1, \alpha_2, ..., \alpha_n$  into a wff  $\beta$ . It is written as follows:  $\alpha_1, \alpha_2, ..., \alpha_n \div / \beta$ .

**Definition** (2). Let  $A_1, A_2, A_3, ..., A_n$ ;  $\therefore B$  be an argument form. We say that the conclusion B is deducible from the premises  $A_1, A_2, A_3, ..., A_n$ . If there is a finite sequence of **wffs** such that:

- i. Each wff of the sequences either belongs to  $\{A_1, A_2, A_3, ..., A_n\}$  or is derived from pervious wff in the sequence by an inference rule.
- ii. The last **wff** of the sequence is **B**. The finite sequence of **wffs** is called natural deduction (proof) in LSPL, this is denoted by:  $A_1, A_2, A_3, ..., A_n \vdash B$  (this is also called sequent). **B** is called theorem in LSPL, if  $\vdash B$ .

**Definition** (3). *A* and *B* are called provably equivalent if  $A \vdash B$  and  $B \vdash A$ , this is denoted by  $A \dashv \vdash B$ .

**Theorem** (1). [1] DE Morgan's theorems are provably equivalent. I.e.,  $\neg(A \land B) \dashv \vdash \neg A \lor \neg B$ .

**Theorem (2).** Prove the argument  $A \rightarrow B$ ,  $\neg B \vdash \neg A$ .

Proof.

Line #	wff	Reason	
1.	$A \rightarrow B$	Pre	
2.	¬B	Pre	
3.	Α	Ass	
4.	В	$1,3, \rightarrow -E$	
5.	0	$2, 4, \neg - E$	
6.	$\neg A$	3,5, – <i>– I</i>	Discharge 3∎.

Note that. The logicians known as the previous theorem by the rule of Modus Tollens.

Theorem (3). The following argument is valid.

⊢ ¬{[¬(A	$\wedge B) \wedge \neg (A \wedge -$	¬B)]∧[¬(¬A.	∧ B) ∧ ¬(¬A	∧ ¬B)]}.
Proof.				

1. 
$$\left\{ \begin{bmatrix} \neg (A \land B) \land \neg (A \land \neg B) \end{bmatrix} \land \\ \begin{bmatrix} \neg (\neg A \land B) \land \neg (\neg A \land \neg B) \end{bmatrix} \right\}$$
 Ass

2. 
$$[\neg(A \land B) \land \neg(A \land \neg B)]$$
 1,  $\land -E$   
3.  $[\neg(\neg A \land B) \land \neg(\neg A \land \neg B)]$  1,  $\land -E$ 

4. 
$$\neg(A \land B)$$
 2, $\land -E$ 

Retrieval Number:100.1/ijam.A1141043123 DOI: <u>10.54105/ijam.A1141.043123</u> Journal Website: <u>www.ijam.latticescipub.com</u>

5.	$\neg (A \land \neg B)$	$2, \wedge -E$
6.	$\neg(\neg A \land B)$	$3, \wedge -E$
7.	$\neg(\neg A \land \neg B)$	$3, \wedge -E$
8.	$A \rightarrow \neg B$	4, by thm
9.	$A \rightarrow \neg \neg B$	5, by thm
10.	Α	Ass
11.	¬ <i>B</i>	$8,10, \rightarrow -E$
12.	<i>B</i>	$9,10, \rightarrow -E$
13.	0	11,12, ¬ – E
14.	$\neg A$	10,13, ¬ – I
15.	$\neg A \rightarrow \neg B$	6, by thm
16.	$\neg A \rightarrow \neg \neg B$	7, by thm
17.	$\neg A$	Ass
18.	¬ <i>B</i>	$15,17, \rightarrow -E$
19.	<i>B</i>	$16,17, \rightarrow -E$
20.	0	18,19, ¬ – E
21.	¬¬A	17,20, ¬ – I
22.	0	14,21, ¬ – <i>I</i>
23.	$\int [\neg (A \land B) \land \neg (A \land \neg B)] \land ]$	1,22, ¬ − <i>I</i> ■.
	$\neg [\neg (\neg A \land B) \land \neg (\neg A \land \neg B)]$	\$

# III. ALGEBRAIZATIONS OF PROPOSITIONAL LOGIC

In this section, we present the main result how to make algebra out of logic due to Halmos, see [2,10,11,12,13,15,16]. Moreover, to know about the facts of Boolean algebra, see [2,6,9,14,17].

**Definition (1).** [2,6,14] A Boolean Algebra is an algebraic structure  $\mathcal{B} = (B, \vee, \wedge, ', 0, 1)$  consists of a set B, two binary operations  $\vee$  (join) and  $\wedge$  (meet), one unary operation '(complementation) and two nullary operations 0 and 1(fixed element) which satisfies the following axioms:

 $BA_1$ .  $a \lor b = b \lor a$  and  $a \land b = b \land a, \forall a, b \in B$ 

(commutative axiom );

$$BA_2.(a \lor b) \lor c = a \lor (b \lor c)$$
 and

$$(a \land b) \land c = a \land (b \land c), \forall a, b, c \in B$$

(associative axiom);

$$BA_3$$
.  $a \lor (b \land c) = (a \lor b) \land (a \lor c)$  and

$$a \land (b \lor c) = (a \land b) \lor (a \land c), \forall a, b, c \in B$$

(distributive axioms);

 $BA_4$ .  $a \lor a = a$  and  $a \land a = a$  (idempotent axiom);

$$BA_5$$
.  $a \lor (a \land b) = a$  and  $a \land (a \lor b) = a, \forall a, b \in B$ 

(absorption axiom);

 $BA_6$ .  $a \wedge 1 = a$  and  $a \vee 0 = a$ ,  $\forall a \in B$ 

(existence of zero and unit elements axioms), and

 $BA_7$ .  $\forall a \in B \implies \exists a' \in B \ni a \lor a' = 1$  and

 $a \wedge a' = 0$  (existence of complement axiom).

The following theorems gives us the main properties of elements of Boolean Algebras.





Now, Consider a set  $S = \{p: p \text{ is a wff}\}$  of all wffs. Define the relation  $\Leftrightarrow$  on S as follows:  $p \Leftrightarrow q$  if and only if  $\models (p \leftrightarrow q)$  It easy to verify that  $\Leftrightarrow$  is an equivalence relation on S. Let  $B = {S/_{\bigoplus}} = \{[p]: p \in S\}$  be the quotient set. Define a binary relation  $\leq$  on **B** as follows:  $[p] \leq [q]$  if and only if  $p \Rightarrow q$  (iff  $\models p \rightarrow q$ ),  $\leq$  is well- defined and ordering relation on B. Define operations on B as follows:

i.  $[p] \lor [q] = [p \lor q].$ 

ii.  $[p] \wedge [q] = [p \wedge q].$ 

 $[p'] = [\neg p]$ , for all  $[p], [q] \in B$ .

Moreover, let  $[0] = [p \land \neg p]$  and  $[1] = [p \lor \neg p]$ , these are well-defined.

**Theorem** (1). The Algebraic structure  $\mathcal{B} = (B, \vee, \wedge, ', [0], [1])$ is a Boolean Algebra,

**Proof.** Let [p], [q] and  $[r] \in B$ , then:

 $BA_1$ .  $[p] \lor [q] = [p \lor q] = [q \lor p] = [q] \lor [p]$  and  $[p \land q] = [p \land q] = [q \land p] = [q] \land [p], \forall [p], [q] \in B$ (commutative axiom ).

 $BA_2$ .  $([p] \lor [q]) \lor [r] = [p \lor q] \lor [r]$ 

$$= [(p \lor q) \lor r]$$

$$= [p \lor (q \lor r)]$$

$$= [p] \lor [q \lor r] = [p] \lor ([q] \lor [r]) ,$$
and
$$([p] \land [q]) \land [r] = [p \land q] \land [r]$$

$$= [(p \land q) \land r]$$

$$= [p \land (q \land r)]$$

$$= [p] \land [q \lor r] = [p] \land ([q] \land [r]),$$

 $\forall [p], [q], [r] \in B$  ((associative axiom).

$$BA_{3}.[p] \lor ([q] \land [r]) = [p] \lor [q \land r]$$

$$= [p \lor (q \land r)]$$

$$= [(p \lor q) \land (p \lor r)]$$

$$= [p \lor q] \land [p \lor r]$$

$$= ([p] \lor [q]) \land ([p] \lor [r]) \text{ and}$$

$$[p] \land ([q] \lor [r]) = ([p] \land [q]) \lor ([p] \land [r]),$$

 $\forall [p], [q], [r] \in B(\text{distributive axiom})$ . By similar method.

 $BA_4$ .  $[p] \lor [p] = [p \lor p] = [p]$  and

 $[p] \land [p] = [p \land p] = [p]$  (idempotent axiom).

 $BA_5$ . $[p] \lor ([p] \land [q]) = [p] \lor [p \land q]$ 

$$= [p \lor (p \land q)] = [p], \text{ and}$$
$$[p] \land ([p] \lor [q]) = [p] \land [p \lor q]$$
$$= [p \land (p \lor q)] = [p],$$

$$\forall [p], [q] \in B$$
 (absorption axiom).

 $BA_6$ .  $[p] \land [1] = [p \land 1] = [p]$ . and

 $[p] \lor [0] = [p \lor 0] = [p], \forall [p] \in B.$ 

(existence of zero and unit elements axioms) and

(existence of zero and unit elements axioms) and

 $BA_7$ ,  $\forall [p] \in B \implies \exists [p]' \in B$  such that  $[p] \lor [p]' = [p] \lor [\neg p] = [p \lor \neg p] = [1]$  and  $[p] \land [p]' = [p] \land [\neg p] = [p \land \neg p] = [0]$ 

(existence of complment axiom)

A propositional logic can now be represented by Boolean algebras, where the equivalence classes of wffs of a statement are represented by elements of the Boolean algebra. The logical operations  $\neg, \Lambda, \vee, \rightarrow, \leftrightarrow$ have their Boolean counterparts. The Logical relations  $\Leftrightarrow$ and  $\Rightarrow$  are represented by = and  $\leq$ , respectively, thus sequent in propositional logic can be algebraic proofs.

**Remark.** In logic  $\Leftrightarrow$  corresponding to  $\dashv \vdash$ and  $\Rightarrow$ corresponding to  $\vdash$  if we pass from validity to deduction.

**Theorem (2).** The wff,  $\neg (A \land B) \dashv \vdash \neg A \lor \neg B$  in *LSPL* see [1] corresponding to  $(a \land b)' = (a' \lor b')$ 

in Boolean algebra B. We can prove algebraically that  $(a \wedge b)' = (a' \vee b').$ 

#### Proof.

$$(a \wedge b) \vee (a' \vee b') = \{a \vee (a' \vee b')\} \wedge \{b \vee (a' \vee b')\}$$
$$= \{(a \vee a') \vee b'\} \wedge \{b \vee (b' \vee a')\}$$
$$= \{(a \vee a') \vee b'\} \wedge \{(b \vee b') \vee a'\}$$
$$= \{1 \vee b'\} \wedge \{1 \vee a'\}$$
$$= 1 \wedge 1 = 1.$$
 From another hand, we

have,

$$(a \wedge b) \wedge (a' \vee b') = \{(a \wedge b) \wedge a'\} \vee \{(a \wedge b) \wedge b'\}$$
$$= \{(b \wedge a) \wedge a'\} \vee \{(a \wedge b) \wedge b'\}$$
$$= \{b \wedge (a \wedge a')\} \vee \{a \wedge (b \wedge b')\}$$
$$= \{b \wedge (a \wedge a')\} \vee \{a \wedge (b \wedge b')\}$$
$$= \{b \wedge 0\} \vee \{a \wedge 0\}$$
$$= 0 \vee 0 = 0.$$
Therefore  
$$(a \wedge b)' = (a' \vee b') \blacksquare.$$

**Theorem** (3). The wff,  $A \rightarrow B, \neg B \vdash \neg A$  in LSPL corresponding to  $(a' \lor b) \land b' \leq a'$  in Boolean algebra.

# Proof.

$$\begin{array}{l} a \rightarrow b \wedge b' = (a' \lor b) \wedge b' = (a' \wedge b') \lor (b \wedge b') = \\ (a' \wedge b') \lor 0 = a' \wedge b' \leq a' \blacksquare. \end{array}$$

**Theorem** (4).  $p \rightarrow q \Leftrightarrow \neg q \rightarrow \neg p$  in *LSPL* This corresponding to in Boolean algebra B,

by 
$$a \longrightarrow b = b' \longrightarrow a'$$
,

Proof.

**Proof.**  
$$a \rightarrow b = a' \lor b = b \lor a' = (b')' \lor a' = b' \rightarrow a' \blacksquare$$
.

**Theorem (5).** The wff,  $(A \rightarrow B)$ ,  $A \vdash B$  in LSPL known as in dedication system of propositional logic (DSPL) by rule if..., then ..., elimination  $(\rightarrow -E)$ , also, it is called Modus ponens, this is becoming in a Boolean algebra  $(a' \lor b) \land a) \leq b.$ Matheman



Proof.

 $(a \rightarrow b) \land a = (a' \lor b) \land a = (a' \land a) \lor (b \land a) = 0 \lor (b \land a) = (b \land a) \le b \blacksquare$ .

# **Theorem (6).** The argument:

 $\vdash \neg \{ [\neg(A \land B) \land \neg(A \land \neg B) ] \land [\neg(\neg A \land B) \land \neg(\neg A \land \neg B) ] \}$ 

is corresponding to

 $\{[(a \land b)' \land (a \land b')'] \land [(a' \land b)' \land (a' \land b')']\}' = 1.$ in Boolean algebra:

# Proof.

$$\begin{split} &\{[(a \wedge b)' \wedge (a \wedge b')'] \wedge [(a' \wedge b)' \wedge (a' \wedge b')']\}' \\ &= [(a \wedge b)' \wedge (a \wedge b')']' \vee [(a' \wedge b)' \wedge (a' \wedge b')']' \\ &= [(a \wedge b) \vee (a \wedge b')] \vee [(a' \wedge b) \vee (a' \wedge b')] \\ &= [a \wedge (b \vee b')] \vee [a' \wedge (b \vee b')] \\ &= [a \wedge 1] \vee [a' \wedge 1] \\ &= a \vee a' = 1 \blacksquare. \end{split}$$

# IV. SAYTEM OF MONADIC PREDICATE LOGIC

**Definition (1).** A first-order language for system monadic predicate logic (LSMPL) consists of symbols for:

- 1. Constant letters  $a_1, a_2, a_3, \dots$
- 2. Variables letters  $x_1, x_2, x_3, \dots$
- 3. Functions letters  $f_1, f_2, f_3, \dots$
- 4. Predicate letters  $A_1, A_2, A_3, \dots$
- 5. Quantifiers ∀,∃.
- 6. Connective symbols  $\neg, \land, \lor, \rightarrow, \leftrightarrow$  and
- 7. Punctuation (,).

**Definition (2).** A term of first-order language for system monadic predicate logic (LSMPL) is defined as follows:

- 1. **a**<sub>1</sub>, **a**<sub>2</sub>, **a**<sub>3</sub>, ... are terms,
- 2.  $x_1, x_2, x_3, ...$  are terms and
- 3. If t is a term, then  $f_i(t)$  is a term.

**Definition (3).** An atomic formula of first order (LSMPL) defined as follows, if t is a term, then

 $A_i(t)$  is called an atomic formula.

**Definition (4).** A well- formed formula (**wff**) of first order (LSMPL) is defined as follows:

- 1. Any atomic formula is a **wff**, and
- 2. If A and B are Wffs, then  $\neg A, A \land B, A \lor B, A \rightarrow B, A \leftrightarrow B, (\forall x_i)A$ , and  $(\exists x_i)A$  are wffs.

**Definition (5).** A variable  $x_i$  occurring in a **wff** is called a bound, if it is within the scope of quantifiers  $(\forall x_i)$  or  $(\exists x_i)$ . Otherwise  $x_i$  is called free variable. A **wff** is called closed, if it has no free variables.

**Definition (6).** A term of first-order language for system monadic predicate logic (LSMPL) is defined as follows:

 $1.a_1, a_2, a_3, \dots$  are terms,

- 2.  $x_1, x_2, x_3, ...$  are terms and
- 3. If t is a term, then  $f_i(t)$  is a term.

**Definition** (7). An atomic formula of first order (LSMPL) defined as follows, if t is a term, then

 $A_i(t)$  is called an atomic formula.

**Definition (8).** A well- formed formula (**wff**) of first order (LSMPL) is defined as follows:

1. Any atomic formula is a wff, and

2. If A and B are wffs, then  $\neg A$ ,  $A \land B$ ,  $A \lor B, A \to B$ ,  $A \leftrightarrow B$ ,  $(\forall x_i)A$ , and  $(\exists x_i)A$  are wffs.

**Definition (9).** A variable  $x_i$  occurring in a **wff** is called a bound, if it is within the scope of quantifiers  $(\forall x_i)$  or  $(\exists x_i)$ . Otherwise  $x_i$  is called free variable. A **wff** is called closed, if it has no free variables.

**Definition** (10). If A is a formula and A accurse of formula of B then A is called a sub-formula of B.

**Remark.** Argument forms of first-order (LMPLS) are defined as in (LPLS). The (LMPLS) is more expressive than the (LSPL).

# A. Validity of Monadic Predicate Logic System (VMPLS)

**Definition** (1). An interpretation I of (LSMPL) consist of a domain  $D_I$  of values such that:

- 1.  $a_1, a_2, a_3, \dots$  correspond to a fixed value  $\overline{a_1}, \overline{a_2}, \overline{a_3}, \dots$  in  $D_l$ ,
- 2. Function symbols  $f_i$  correspond to any unary operation  $\overline{f_i}: D_i \to D_i$ , and
- - i. If A is closed **wff**, then its translation in I is a proposition (i.e. it is true or false).
  - ii. If A is constant free variable s, then its translation in I is an open sentence.
  - iii. The assignments of values from  $D_i$  to the free variables will make the open sentence satisfiability or not in *I*. If the open sentence is satisfiability for all assignments of values of  $D_I$  it is said to be true in *I*. A is called false in *I*, if it is not satisfiability by any an assignment of value of *I*.
  - iv. If A is true in every interpretation, then A is called valid and it is denoted by ⊨ A. The validity of an argument A<sub>1</sub>, A<sub>2</sub>, A<sub>3</sub>, ..., A<sub>n</sub> ; ∴ B in first order (LSMPL) is denoted by A<sub>1</sub>, A<sub>2</sub>, A<sub>3</sub>, ..., A<sub>n</sub> ⊨ B and is defined as in (LSPL) also the logical implication ⇒ and logical equivalence ⇔ are defined as mentioned in [7].

**Remark.** In classical logic the analyzed proposition into the following components

i. Subject term,

ii. Predicate term.

**Theorem (1).** Prove that the following argument in (LSMPL):  $(\forall x)A(x) \lor (\forall x)B(x) \vDash (\forall x)(A(x) \lor B(x))$  is valid, but the converse is invalid. That is,

# $(\forall x)(A(x) \lor B(x)) \not\models (\forall x)A(x) \lor (\forall x)B(x).$

**Proof.** Suppose that  $D = \{a, b\}$ . Now,

 $(\forall x)A(x) \equiv A(a) \land A(b) \equiv p \land q$ , and  $(\forall x)B(x) \equiv B(a) \land B(b) \equiv r \land s$ . Hence the premises become:  $p \land q) \lor (r \land s)$ .



*Lattice Science Publication (LSP)* © Copyright: All rights reserved.

Published By:



Also the conclusion:  $(\forall x)(A(x) \lor B(x)) \equiv (A(a) \lor B(a)) \land (A(b) \lor B(b))$  $\equiv (p \lor r) \land (q \lor s)$ .Now, we test the wff:  $p \land q$  )  $\lor$  ( $r \land s$ )  $\rightarrow$  ( $p \lor r$ )  $\land$  ( $q \lor s$ ). It is easy to verified that by truth table the wff:

 $(p \land q) \lor (r \land s) \rightarrow (p \lor r) \land (q \lor s)$ tautology. is а Therefore, the argument:

 $(\forall x)A(x) \lor (\forall x)B(x) \vDash (\forall x)(A(x) \lor B(x)) \blacksquare$ .

The converse of theorem by the following example. **Example (1).** Show that the following argument:  $(\forall x)(A(x) \lor B(x)) \not\models (\forall x)A(x) \lor (\forall x)B(x)$ 

is invalid in (LSMPL), We want to show that:

 $(\forall x)(A(x) \lor B(x)) \rightarrow (\forall x)A(x) \lor (\forall x)B(x)$ 

invalid. Suppose that  $D = \{a, b\}$  with the following interpretation as shown in Table.1.

Table of Disjunction Argument 1.

	Α	В	$A \lor B$
а	Т	F	Т
b	F	Т	Т

The premise becomes:

 $(\forall x)(A(x) \lor B(x)) \equiv (A(a) \lor B(a)) \land (A(b) \lor B(b))$  $\equiv (T \lor F) \land (F \lor T) \equiv T \land T \equiv T.$ 

Form anther hand,  $(\forall x)A(x) \equiv A(a) \land A(b) \equiv T \land F \equiv F$ and  $(\forall x)B(x) \equiv B(a) \land B(b) \equiv T \land F \equiv F$ , hence the conclusion becomes,  $(\forall x)A(x) \lor (\forall x)B(x) \equiv F \lor F \equiv F$ . We see that:  $T \rightarrow F \equiv F$ . Hence,

 $(\forall x)(A(x) \lor B(x)) \not\models (\forall x)A(x) \lor (\forall x)B(x).$ **Theorem (1).** Prove that the following argument:  $(\exists x)(A(x) \land B(x)) \models (\exists x)A(x) \land (\exists x)B(x)$ is valid in (LMPLS), but the converse is invalid, that is,  $(\exists x)A(x) \land (\exists x)B(x) \neq (\exists x)(A(x) \land B(x))$ **Proof.** Suppose that  $D = \{a, b\}$ . We will prove  $(\exists x)(A(x) \land B(x)) \rightarrow (\exists x)A(x) \land (\exists x)B(x)$ is valid argument. The premise represents by:  $(\exists x)(A(x) \land B(x)) \equiv (A(a) \land B(a)) \lor (A(b) \land B(b))$  $\equiv (p \land r) \lor (q \land s)$ 

and the conclusion represents by:

 $(\exists x)A(x) \equiv A(a) \lor A(b) \equiv p \lor q$  and

 $(\exists x)B(x) \equiv B(a) \lor B(b) \equiv r \lor s$ . Hence the conclusion becomes:  $p \lor q \land (r \lor s)$ . So it easy to check wff:

 $(p \land r) \lor (q \land s) \rightarrow (p \lor q) \land (r \lor s)$ 

is valid by truth table and consequently,

$$(\exists x)(A(x) \land B(x)) \models (\exists x)A(x) \land (\exists x)B(x)$$

The following examples illustrates the converse of the theorem is invalid.

**Example (2).** Show that the following argument:

 $(\exists x)A(x) \lor (\exists x)B(x) \not\models (\exists x)(A(x) \lor B(x))$ 

is invalid in (LMPLS. We need to show that:

Retrieval Number: 100.1/ijam.A1141043123

DOI: 10.54105/ijam.A1141.043123

 $(\exists x)A(x) \land (\exists x)B(x) \rightarrow (\exists x)(A(x) \land B(x))$  is an invalid.

Suppose that  $D = \{a, b\}$  with the following interpretation as shown in Table 2.

#### **Table Conjunction Argument 2.**

	Α	В	$A \wedge B$
a	Т	F	F
b	F	Т	F

The premise becomes:

 $(\exists x)A(x) \equiv A(a) \lor A(b) \equiv T \lor F \equiv T$  and

 $(\exists x)B(x) \equiv B(a) \lor B(b) \equiv T \lor F \equiv T$ , hence

 $(\exists x)A(x) \land (\exists x)B(x) \equiv T \land T \equiv T$ the conclusion represents by:

 $(\exists x)(A(x) \lor B(x)) \equiv (A(a) \land B(a)) \lor (A(b) \land B(b))$  $\equiv (T \land F) \lor (F \land T) \equiv F \lor F \equiv F.$  $T \rightarrow F \equiv F$ that .hence we see  $(\exists x)A(x) \lor (\exists x)B(x) \not\models (\exists x)(A(x) \lor B(x)).$ 

### B. Dedication of Monadic Predicate Logic System (DMPLS)

A wff A involving x as a free variable may be denoted by A(x). The inference rule of (DMPLS) consists of the rules of (DPLS) together with the following four rules, the inference rule of (DMPLS) consists of rules of (DPLS) together with the following four rules,  $\forall - Elimination (\forall - E)$ ,

 $\forall$  - Introducation ( $\forall$  - I),  $\exists - Elimination(\exists - E),$ and,  $\exists - Introducation (\exists - I)$ . The following theorems give us the main basic features of monadic logic see defined as definition 4.2.1 in [8], in addition,

Theorem (1). Inference rules of (LMPLS) are both sound and complete, that is: A wff A involving x as a free variable may be denoted by A(x). The inference rule of (DMPLS) consists of the rules of (DPLS) together with the following four rules, the inference rule of (DMPLS) consists of rules of (DPLS) together with the following four rules,  $\forall - Elimination (\forall - E),$ 

 $\forall$  - Introducation ( $\forall$  - I),  $\exists - Elimination(\exists - E),$ and,  $\exists - Introducation (\exists - I)$ . The following theorems give us the main basic features of monadic logic see defined as definition 4.2.1 in [8], in addition,

Theorem (2). Inference rules of (LMPLS) are both sound and complete, that is;

 $A_1, A_2, A_3, \dots, A_n \models B \text{ iff } A_1, A_2, A_3, \dots, A_n \models B.$ 

Corollary (3).  $\vDash$  B iff  $A_1, A_2, A_3, \dots, A_n \vdash$  B.

Theorem (4). (LMPLS) is consistent, incomplete and decidable.

**Theorem (5).** Prove that the following argument in (LMPLS) by (DMPLS): $(\forall x)A(x) \lor (\forall x)B(x) \vdash (\forall x)(A(x) \lor B(x))$ Proof.

Line #	wff	Reason
1.	$(\forall x)A(x) \lor (\forall x)B(x)$	Pre
2.	$(\forall x)A(x)$	Ass
3.	A(t)	2,∀ — E
4.	$A(t) \vee B(t)$	3, ∀ <i>− I</i>
5.	$(\forall x)(A(x) \lor B(x))$	$4, \forall -I$
6.	$(\forall x)B(x)$	Ass
7.	B(t)	6, ∀ <i>− E</i> .
8.	$A(t) \vee B(t)$	$7, \forall -I$
9.	$(\forall x)(A(x) \lor B(x))$	8, ∀ <i>− I</i>
10.	$(\forall x)(A(x) \lor B(x))$	1,2,5,6,9,-E,
		discharge 2&6∎.



Published By: Lattice Science Publication (LSP) © Copyright: All rights reserved.

16

Journal Website: <u>www.ijam.latticescipub.com</u>

**Theorem (6).** Prove the following arguments in (LMPLS) by (DMPLS):

 $(\exists x)(A(x) \land B(x)) \vdash (\exists x)A(x) \land (\exists x)B(x)$ 

Proof.

Line wff Reason # 1.  $(\exists x)(A(x) \land B(x))$ Pre 2.  $A(t) \wedge B(t)$ Ass 3. A(t) $2, \wedge -E$ 4.  $2.\Lambda - E$ B(t)5.  $(\exists x)A(x)$  $3, \exists - I$  $(\exists x)B(x)$ 6.  $4, \exists - I$  $(\exists x)A(x) \land (\exists x)B(x)$ 7. 5,6,∧ *−I*.  $1, 2, 7, \exists - E, discharge 2$ 8.  $(\exists x)A(x) \land (\exists x)B(x)$ 

For the converse of pervious theorems (6) and (5). It is enough by Theorem (2). to show that:

$$(\forall x)(A(x) \lor B(x)) \not\models (\forall x)A(x) \lor (\forall x)B(x)$$
, and

$$(\exists x)A(x) \land (\exists x)B(x) \neq (\exists x)(A(x) \land B(x)),$$
 and

consequently, the two examples (1) and (2) in IV-A. Moreover, we may consider the following example.

**Example** (1). Consider the following interpretation  $D_1 = \mathbb{Z}^+ = \{0, 1, 2, ...\}$ . Now, define

A(x) := to be "x is even " and B(x) := to be "x is odd ". So,

 $(\forall x)(A(x) \lor B(x)) \equiv (\forall x)(x \text{ is even } \lor x \text{ is odd}) \equiv T$ for all  $D_I = \mathbb{Z}^+$ , from another hand,

 $(\forall x)A(x) \equiv (x \text{ is even; } \forall x \in \mathbb{Z}^+) \equiv F$  and  $(\forall x)B(x) \equiv (x \text{ is odd; } \forall x \in \mathbb{Z}^+) \equiv F$ . Hence

 $(\forall x) A(x) \lor (\forall x) B(x) \equiv F \lor F \equiv F$ , we deduced that,  $T \to F \equiv F$ . By Similar reasoning related to existential quantifier, we have  $(\exists x)A(x) \land (\exists x)B(x) \equiv T$  and  $(\exists x)(A(x) \land B(x)) \equiv F$ , hence

$$T \rightarrow F \equiv F$$
.

**Theorem (7).** Prove that the following argument in **(LMPLS)** by (DMPLS):

 $(\forall x) (A(x) \rightarrow B(x)), (\forall x) A(x) \vdash (\forall x) B(x).$ 

# Proof.

Line #	wff	Reason
1.	$(\forall x)(A(x) \rightarrow B(x))$	Pre
2.	$(\forall x)A(x)$	Pre
3.	$A(t) \rightarrow B(t)$	$1, \forall -E$
4.	A(t)	$2, \forall -E$
5.	B(t)	$3,4, \rightarrow -E$
6.	$(\forall x)B(x)$	$5, \forall -I \blacksquare$ .

**Theorem (8).** Prove that the following in (LMPLS) by (DMPLS):  $(\exists x)(A(x) \rightarrow B) \vdash (\forall x)A(x) \rightarrow B$ . **Proof.** 

11001.		
Line #	wff	Reason
1.	$(\exists x)(A(x) \rightarrow B)$	Pre
2.	$A(t) \rightarrow B$	Ass
3.	$(\forall x)A(x)$	Ass
4.	A(t)	3, ∀ — E
5.	В	$2,4, \rightarrow -E$
6.	$(\forall x)A(x) \rightarrow B$	$3,5, \rightarrow -I$ , discharge-3
7.	$(\forall x)A(x) \rightarrow B$	$1, 2, 6, \exists - E$ ,
		discharge-2 $\blacksquare$ .

**Theorem (9).** Prove that the following argument in (LMPLS) by (DMPLS):  $\vdash (\exists x)((\exists y)A(y) \rightarrow A(x))$ . **Proof.** 

Line #	wff	Reason
1.	$\neg (\exists x)((\exists y)A(y) \rightarrow A(x)).$	Ass
2.	$(\forall x) \neg ((\exists y)A(y) \rightarrow A(x)).$	1,
		thm-list-seq-6(DE
		Morgan)
3.	$\neg((\exists y)A(y) \rightarrow A(t))$	2, ∀ — E
4.	$\neg(\neg(\exists y)A(y) \lor A(t))$	3, thm
5.	$(\exists y)A(y) \land \neg A(t)$	<b>4</b> , <i>thm</i> (DE
		Morgan)
6.	$\neg A(t)$	$5, \wedge -E$
7.	$(\exists y)A(y)$	5,∧ <i>−E</i>
8.	$(\exists x)A(x)$	7, thm-list-seq-2
9.	A(t)	Ass
10.	0	6,9, – – <i>E</i>
11.	0	8,9,10,∃ <i>– E</i>
12.	$\neg \neg (\exists x)((\exists y)A(y) \rightarrow A(x)).$	$1,11, \neg - I$
13.	$(\exists x)((\exists y)A(y) \rightarrow A(x))$	12, DN

**Theorem (10).** Prove that the following argument in **(LMPLS)** by (DMPLS):

 $(\forall x)(A \lor B(x)) \dashv \vdash A \lor (\forall x)B(x)$  **Proof.** Frist direction:  $(\forall x)(A \lor B(x)) \vdash A \lor (\forall x)B(x)$ Line wff Reason

#		
1.	$(\forall x)(A \lor B(x))$	Pre
2.	$A \vee B(t)$	$1, \forall - E$
3.	$\neg (A \lor (\forall x)B(x))$	Ass.
4.	$\neg A \land \neg (\forall x) B(x)$	3, thm (Demorgan)
5.	$(\exists y)A(y) \land \neg A(t)$	4, thm (DE Morgan)
6.	$\neg A(t)$	5,∧ <i>−E</i>
7.	$(\exists y)A(y)$	5,∧ <i>−E</i>
8.	$(\exists x)A(x)$	7, thm-list-seq-2
9.	A(t)	Ass
10.	0	6,9, – – <i>E</i>
11.	0	8,9,10,∃ — E
12.	$\neg \neg (\exists x)((\exists y)A(y) \rightarrow A(x)).$	1,11, ¬ – I
13.	$(\exists x)((\exists y)A(y) \rightarrow A(x))$	12, DN
The second direction by same argument, therefore,		
$(\forall x)(A \lor B(x)) \dashv \vdash A \lor (\forall x)B(x)$		

#### V. ALGEBRAIZATIONS OF MONADIC LOGIC

A Boolean Algebra is complete if for any subset of it, it has supremum and infimum in the Boolean algebra. Assume that B is a complete Boolean algebra. Let X be a non-empty set which represents the domain of a monadic logic.

 $B^{X} = \{p | p: X \rightarrow B \text{ is a function }\}$ , the set of all functions from X into B, is a functional Boolean algebra. This is so by Defining Boolean operators pointwise, see [1,2]. Elements of  $B^{X}$  are the form p(x), where  $|p: X \rightarrow B$  is function. These elements represent 1-place predicates of the monadic logic.

Published By: Lattice Science Publication (LSP) © Copyright: All rights reserved.



Retrieval Number:100.1/ijam.A1141043123 DOI: <u>10.54105/ijam.A1141.043123</u> Journal Website: <u>www.ijam.latticescipub.com</u>



Now, the existential and universal functional quantifiers of  $B^x$  Can be defined algebraically as follows:  $(\exists x)p(x) = \sup_{x \in X} \{p(x)\}$  and  $(\forall x)p(x) = \inf_{x \in X} \{p(x)\}$ ,  $(\exists x)p(x)$  and  $(\forall x)p(x)$  are exists, since B is complete. There are two functional quantifiers which represents existential and universal quantifiers of monadic logic. Not that.

$$\begin{aligned} \left( (\exists x) p'(x) \right)' &= \left( \begin{array}{c} \sup_{x \in X} \{ p'(x) \} \right)' \\ &= \left( \left( \begin{array}{c} \inf_{x \in X} \{ p(x) \} \right)' \right)' \\ &= \begin{array}{c} \inf_{x \in X} \{ p(x) \} = (\forall x) p(x) \end{aligned}$$

**Theorem (1).** An existential functional quantifier is an existential quantifier. **Proof.** 

1. 
$$(\exists x)0(x) = \sup\{0(x): x \in X\} = \sup\{0\} = 0 = 0(x).$$
  
2.  $(\exists x)p(x) = \sup\{p(x): x \in X\} \ge p(x).$   
3.  $(\exists x)(p(x)) \land (\exists x)(q(x)) = \sup_{x \in X} \{p(x) \land (\exists x)q(x)\}$   
 $= \sup_{x \in X} \{p(x)\} \land (\exists x)q(x)\}$   
 $= (\exists x)p(x) \land (\exists x)q(x) \blacksquare.$ 

**Corollary** (1). M with an existential functional quantifier is monadic algebra. The following tables illustrates the corresponding monadic systems and the functional is a monadic algebra.

Monadic Logic Variables $x_1, x_2, x_3,$	Monadic Algebra Variables letters $x_1, x_2, x_3,$		
Constants	Constants		
$a_1, a_2, a_3, \dots$	<i>a</i> <sub>1</sub> , <i>a</i> <sub>2</sub> , <i>a</i> <sub>3</sub> ,		
1-place predicate $p(x)$	Single variable function $p(x)$ from $X \rightarrow B$ .		
-Negation	' complementation		
∧ and	∧ meet		
V or	<b>v</b> joint		
$\rightarrow$ conditional	$\rightarrow$		
$\leftrightarrow$ biconditional	$\leftrightarrow$		
$\Leftrightarrow$	= equality		
$\Rightarrow$	≤ precede or equal		
(∃ <i>x</i> )	sup		
$(\forall x)$	inf x		
It is possible to introd	uce now algebraic proofs of the sequent		

It is possible to introduce now algebraic proofs of the sequent of monadic logic

1.  $(\forall x)p \Leftrightarrow p$  in monadic logic this becomes in monadic algebra  $(\forall x)p = \inf_{x} \{p\} = p$ , since p is a constant

functional element.

- 2.  $(\exists x)p \Leftrightarrow p$  ' by similar argument".
- 3.  $(\forall x)p(x) \Leftrightarrow (\forall y)p(y)$  in monadic logic corresponding to the monadic algebra

$$(\forall x)p(x) = \inf_{x} \{p(x)\} = \inf_{y} \{p(y)\} = (\forall y)p(y).$$

This possible as for as x and y are independent free variables.

4. 
$$(\exists x)p(x) \Leftrightarrow (\exists y)p(y)$$
 " by similar argument 3".  
5.  $(\forall x)(p(x) \land q(x)) \Leftrightarrow (\forall x)p(x) \land (\forall x)q(x)$ .

Retrieval Number:100.1/ijam.A1141043123 DOI: <u>10.54105/ijam.A1141.043123</u> Journal Website: <u>www.ijam.latticescipub.com</u>  $6. (\exists x) (p(x) \land q(x)) \Leftrightarrow (\exists x) p(x) \land (\exists x) q(x).$ 7.  $(\forall x)(p(x) \lor q(x)) \Leftrightarrow (\forall x)p(x) \lor (\forall x)q(x).$ 8.  $(\exists x)(p(x) \lor q(x)) \Leftrightarrow (\exists x)p(x) \lor (\exists x)q(x).$ 9.  $(\forall x)(p \lor q(x)) \Leftrightarrow p \lor (\forall x)q(x).$ 10.  $(\forall x)(p \land q(x)) \Leftrightarrow p \land (\forall x)q(x).$ 11.  $(\exists x)(p \lor q(x)) \Leftrightarrow p \lor (\exists x)q(x).$ 12.  $(\exists x)(p \land q(x)) \Leftrightarrow p \land (\exists x)q(x)$ . 13.  $(\forall x)p(x) \Leftrightarrow \neg(\exists x)\neg p(x)$ . 14.  $(\exists x)p(x) \Leftrightarrow \neg(\forall x)\neg p(x)$ . 15.  $\neg(\forall x)p(x) \Leftrightarrow (\exists x)\neg p(x)$ . 16.  $\neg(\exists x)p(x) \Leftrightarrow (\forall x)\neg p(x)$ .  $(\forall x)(p \rightarrow q(x)) \Leftrightarrow p \rightarrow (\forall x)q(x),$ 17. in monadic logic corresponding to in monadic algebra,  $(\forall x)(p \rightarrow q(x)) = (\forall x)(p' \lor q(x))$  $= p' \lor (\forall x)q(x) = p \longrightarrow (\forall x)q(x).$ 18.  $(\exists x)(p \rightarrow q(x)) \Leftrightarrow p \rightarrow (\exists x)q(x).$ " by similar method in 17". 19.  $(\exists x)(p(x) \rightarrow q) \Leftrightarrow (\forall x)p(x) \rightarrow q$ , in monadic logic is counterpart of monadic algebra,  $(\exists x)(p(x) \rightarrow q) = (\exists x)((p(x))' \lor q)$  $= (\exists x)(p(x))' \lor q$  $= \sup_{x \in X} \{ p'(x) \} \lor q$  $= \left(\inf_{x \in X} \{p(x)\}\right)' \lor q$  $= ((\forall x)p(x))' \lor q$  $=(\forall x)v(x) \rightarrow a$ .

20. 
$$(\forall x)(p(x) \rightarrow q) \Leftrightarrow (\exists x)p(x) \rightarrow q$$
,  
" by similar method in 19".

# VI. SOME LOGICAL CONCEPTS SUCH AS DEDICATION

Let **B** be a Boolean Algebra. Suppose that the elements of **B** represent propositions (or statements) of logic. The set of all provable (satisfiability or true) propositions is a filter of **B**, because conditions 1 and 2 of the definition of the filter are sissified [10]. A proposition p is refutable (unsatisfiable or false) if p' is provable. The set of all refutable propositions is an ideal of **B**. since the definition of ideal is satisfied [10]. Dedication in propositional logic can be performed algebraically if we consider the premises of an argument form are elements of filter F and deduced that the conclusion belongs to the filter F. Also all inference rule of propositions logic can be done algebraically.

**Example (1).** Consider  $p \to q$ ,  $q \vdash q$ . In corresponding Boolean algebra *B*. Let *F* be a filter such that  $p \to q$ ,  $q \vdash q \in F$ , therefore  $(p' \lor q) \land p \in F$ . Hence

Published By: Lattice Science Publication (LSP) © Copyright: All rights reserved.



18

#### Algebraizations of Propositional Logic and Monadic Logic

 $(p' \lor q) \land p = p \land q$ , but  $p \land q \leq q$ . so  $q \in F$ . Therefore if  $p \rightarrow q$  and p are provable, then so is q. Let M be a monadic algebra i.e. M is a Boolean algebra with quantifier  $\exists$ . A subset I of M is a monad ideal if I is a Boolean ideal and  $\exists (I) \subseteq I$ . A subset F of M is a monadic filter if F is a Boolean filter and  $\forall$  (*F*)  $\subseteq$  *F*.

# VII. CONCLUSION

In this paper, we studied the algebraic method of propositional and monadic logic, and the treatment of logic by method of algebraic. In future work, we will study polyadic logic and algebraic methods.

Funding/ Grants/ Financial Support	There is no financial support for this work.
Conflicts of Interest/ Competing Interests	I declare that there is no conflict of interests associated with this publication.
Ethical Approval and Consent to Participate	Not relevant.
Availability of Data and Material/ Data Access Statement	Not relevant.
Authors Contributions	I am only the sole author of the article.

#### DECLARATION

#### REFERENCES

- A. M. Al-Odhari, " Features of Propositional Logic", Pure 1. Mathematical Sciences, Vol. 10, 2021, no. 1, 35 - 44, HIKARI Ltd, www.m-ikari.com,https://doi.org/10.12988/pms.2021.91275. [CrossRef]
- 2. M. Al-Odhari, "Existential and Universal Quantifier Operators on Boolean Algebras and Their Properties", I.J. of Mathematical Achieve, 12 (5) (2021), 37-44.
- 3. A. M. Al-Odhari, "Some Characteristics of Monadic and Simple Monadic Algebras", I.J. of Mathematical Achieve, 13 (4) (2022), 1-6.
- 4. A. Arnold, and I. Guessarian, "Mathematics for Computer Science". Prentice Hall Europe-Masson, 1996.
- 5. G. Boole, An investigation into laws of thought, 1854. www.gutenberg.org
- S. Burris, and H. P. A. Sankappanavar, "Course in 6. Universal Algebra", Springer-Verlag, New York, 1981. https://doi.org/10.1007/978-1-4613-8130-3 [CrossRef]
- P. A. Fejer, and D. Simovici, "Mathematical, Foundations of 7 Computer Science", Springer-Verlag New York, Inc, 1991. [CrossRef]
- G. Forbes, "Modern Logic", Oxford University Press, Oxford, 1994. 8.
- 9
- R. L. Goodstein, "Boolean Algebra", Pergman Press Ltd,1963.P. R. Halmos," Basic concepts of algebraic logic", American 10. Monthly, 53 (1956), Mathematical 363-387. https://doi.org/10.1080/00029890.1956.11988821 [CrossRef]
- 11. P. R. Halmos" Algebraic logic, I. Monadic Boolean Algebras", Composition Mathematica, 12 (1955), 217-249.
- 12. P.R Halmos, The representation of Monadic Boolean Algebras, Mathematical 26 (1959). Duke Journal. 447-454. https://doi.org/10.1215/s0012-7094-59-02642-0 [CrossRef]
- P. R. Halmos, "Free monadic algebras", Proceeding of the American 13. Mathematical Society, 10 (1959), 219-227. https://doi.org/10.1090/s0002-9939-1959-0106198-3 [CrossRef]
- P. R. Halmos, "Lecture on Boolean Algebra", D. Van No strand, 14 Princeton, 1963.
- 15. P. R. Halmos, "Algebraic logic", Chelsea, New York Mathematics, 12 (1962),217-249.
- 16 A. G. Hamilton, "Logic for Mathematicians", 17University Press, Cambridge, 1978.

- H. Jung, "Boolean Algebras, Boolean Rings and Stone's 17. Representation Theorem", (2017). http://mathsci.kaist.ac.kr > ~htjung > Boolean
- 18. H. Kahane, Logic and Philosophy. Wadsworth, Inc.1990.
- M. Katetov, translated by M. Basch, "Algebraic Methods of 19. Mathematical Logic", Ladislav Rieger, 1967.
- 20 Y. I. Manin, "A Course of Mathematical Logic for Mathematicians", Springer, New York, Dordrecht, Heidelberg, London, 2010. https://doi.org/10.1007/978-1-4419-0615-1 [CrossRef]
- A. W. Miller, "Introduction to Mathematical Logic", arXiv:math/ 21. 9601203V1[math.LO] 16 (1996) Jan 1996.
- 22. H. Pospessel, Introduction to Logic Propositional Logic, Prentice-Hall, Inc.
- W. V. Quine, "Philosophy of Logic", Harvard University Press, 23. Cambridge, Massachusetts and London England, 1986.
- 24. W. V. Quine, "Methods of Logic", Holt, Rinehart and Winston, Inc, 1959.
- 25. L. Rieger, Algebraic Methods of Mathematical Logic, Academic Press Inc, 1967. https://doi.org/10.1016/c2013-0-12370-7 [CrossRef]
- 26. U. Schoning, "Logic for Computer Scientists", Birkhauser Boston Basel Berlin, 1989. https://doi.org/10.1007/978-0-8176-4763-6 [CrossRef]
- 27. A. Yasuhara, Recursive Function Theory and Logic, Academic Press, Inc, 1971.

#### **AUTHORS PROFILE**



Mr. Adel Mohammed Al-Odhari was awarded B.Sc., MSc. From Department of Mathematics, Faculty of Sciences, University of Garyouns, Benghazi, Libya. His research some of Aspects of Algebraic Logic and received Ph.D. degree in Mathematics from Department of Mathematics, Faculty of Sciences, University Kebangsaan Malaysia, Selangor, Malaysia.

His research The Construction of The Graph of Diagram Groups and Cylindrical Groups from Semigroup Presentation of Natural Numbers. He is working as an associates professor in Department of Mathletics, Faculty of Education, Humanities and Applied Sciences (Khwalan) and Department of Foundation Sciences, faculty of Engineering, Sana'a University. He published more than fifteen papers in International Journals.

Disclaimer/Publisher's Note: The statements, opinions and data contained in all publications are solely those of the individual author(s) and contributor(s) and not of the Lattice Science Publication (LSP)/ journal and/ or the editor(s). The Lattice Science Publication (LSP)/ journal and/or the editor(s) disclaim responsibility for any injury to people or property resulting from any ideas, methods, instructions or products referred to in the content.

